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[T jezeli w aucie brak alarmu fabrycznego to przy pomocy komputera serwisowego/diagnostycznego nalezy aktywowac (wiaczyc)
gt alarm fabryczny, w przeciwnym wypadku wyjscia 6/10, 7/12, 1/4, 2/4, 3/4, 4/4, 8/12 nie dziataja
Comments: if the car does not have the manufacturer’s alarm system, then the manufacturer’s alarm system should be activated (switched on)
: through service/diagnostic computer, otherwise outputs 6/10, 7/12, 1/4, 2/4, 3/4, 4/4, 8/12 will not work.
Moumeuanne:  CCTW B @BTOMOBUNE OTCYCTBYeT WITATHAS CATHANM3AUNS, TO P NOMOLLM AUATHOCTUHECKOTO KOMILIOTEPa CrIeAyeT BIoHUTL
P! : LUTATHYIO CUrHanu3aLuio, B NPOTUBHOM criyyae Bbixoab! 6/10, 7/12, 1/4, 2/4, 3/4, 4/4, 8/12 He paGoTaioT

PL - KOLEJNOSC PODLACZANIA PRZEWODOW: MASA, +12 V, USTAWIC NUMER PROGRAMU DLA DANEGO AUTA, PODLACZYC CANL | CANH.
EN - WIRE CONNECTING ORDER: GROUND, +12V, SET THE PROGRAM NUMBER FOR THE GIVEN VEHICLE, CONNECT CAN-L AND CAN-H.

RU - INOCJIEQOBATEJIbHOCTb NMOAKITKOYEHUA IMTPOBOAOB: MACCA, +12 B, YCTAHOBUTb HOMEP IMPOIrPAMMbI 47151 ONPEQEIIEHHOIO ABTOMOBMWJIA,
MOAJKITIOYNATb CAN-L U CAN-H.
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ATy NHGopMaLMI0 HEOGX0AMMO paccMaTpMBaTh KaK UIIOCTPaLMIO K VIHCTPYKLWK MO YCTaHOBKE.



